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(it) Io7-97 i GUel 7 (9911577 8 — GUe-%, @, T, G aqT & |

(iii) @S —% 5 397 G771 & 16 7% TglashetiT IR & Uh-Tb 3% & Jo7 & |
(iv) GUE—GH Y7 & 17 G 21 7% 317 Tg-IT0T THR & G-3 3% & Fo7 & |
(v) GUE—TH T G 22 T 28 T Tg-ITNT FBR 3 A-AT 3] & Jo7 & |
(vi) G — 94 ¥97 G729 TG 30 G5 -IT0T JHR & TR—-TR 375! & Fo7 & |
(vii) UG — & H J97 G&I1 31 & 33 HE-STEIRT Gra-qid 3] & J97 8 /|
(viii) Fo7-T7 F GHF [6eheT T8 1697 T & | Feid, Gve-@ & 1 397 4, Gve-T & 1 F97 7,
GUS-g & 2 Fo1 4 7T GUS-F & 3 Fo) § TR 957 BT I 1897 77 8 |

(ix) Fepcict BT ITINT AT 8 /

c=3x 108 m/s

h=6.63 x 10734 Js

e=1.6x10"19C

Hy=4n x 107" Tm A

g = 8.854 x 10712 C2 N-! m~2

1
1 =9 x 109 N m? C2
g

§eIg 1 GM (m) = 9.1 x 1031 kg
g T geIAH = 1.675 x 10727 kg
et 1 gl = 1.673 x 1027 kg
RIS §&AT = 6.023 x 1023 ¥fd 719 91

SieeemH frdie = 1.38 x 10723 JK-!
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General Instructions :
Read the following instructions very carefully and follow them :

(1) This question paper contains 33 questions. All questions are
compulsory.

(i) Question paper is divided into FIVE sections — Section A, B, C, D
and E.

(i11) In Section A : Question number 1 to 16 are Multiple Choice (MCQ) type
questions carrying 1 mark each.

(tv) In Section B : Question number 17 to 21 are Very Short Answer (VSA)
type questions carrying 2 marks each.

(v) In Section C : Question number 22 to 28 are Short Answer (SA) type
questions carrying 3 marks each.

(vi) In Section D : Question number 29 & 30 are Long Answer (LA) type
questions carrying 4 marks each.

(vit) In Section E : Question number 31 to 33 are Case-Based questions
carrying 5 marks each.

(viit) There 1s no overall choice. However, an internal choice has been prouvided in
1 question in Section-B, 1 question in Section—C, 2 questions in Section—D
and 3 questions in Section—E.

(ix) Use of calculators is NOT allowed.
c=3x 108 m/s
h=6.63 x 10734 Js
e=16x10"19C
Mo = 4m x 1007 Tm AL

g, = 8.854 x 10712 C2 N-! m~2

1
Toe. = 9% 109 N m2 C2
TESO

Mass of electron (m_) = 9.1 x 103l kg

Mass of neutron = 1.675 x 1027 kg
Mass of proton = 1.673 x 10727 kg
Avogadro’s number = 6.023 x 1023 per gram mole

Boltzmann constant = 1.38 x 10723 JK!
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diee Y Sl & T foham | 3ok g Sy vt gt

P

A P ®) 3
P

© 7 (D) 2P

2. o forgaeft STeRor gaa T pueferdl 5 I i B R 2 % g8 & @Eq
fera & | 378 & uh H 9w [ 3R gad §/3 1 9 yafed €1 @ R | 5k 3wafE g W
¢ grerhTa 8 BT TiETeT 2R T —

Bo I Ho I
A) R B) SR
[T 2u, 1
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3. i feu e for vk el it gk TEfd, xR IRER 0 < x < & B, Tal & T 3R
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(A) weglufEm (B) U
(C) Aeifeftram (D) fomy

4. 100 Q vl =1 ®Ig TeadHIT 1.0 mA 911 % e qut 3T fagau golar 2 | 38
(0 — 1A) TftER o THieX J TiEfdd feram man g | 39 wHiet 1 faly (fehead) & —
A) 0.1Q B) 0.80Q
©) 1.0Q D) 10Q

5.  fereht feu o srfrfeamma & €1 pusfert 1 3= W01 50 mH 3 | Afg et we pueeh A
YR H IiEd 1 = 1.0 sin(lOO nt+%)A%5‘€qﬁ€|?lT%, AT 31T Fueelt | I T
dTlgsh 9 (emf) @F&ﬁ)qﬂﬁl@'{mm—

@ ®B) 5
(C) 0.57 (D) 0.057
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SECTION - A

1. A heater coil rated as (P, V) is cut into two equal parts. One of the parts is
then connected to a battery of V volt. The power consumed by it will be

P

(&) P ® 3
P

© 3 D) 2P

2.  Two insulated concentric coils, each of radius R, placed at right angles to

each other, carry currents I and\/gI respectively. The magnitude of the
net magnetic field at their common centre will be

o1 Bl
A) R B) SR
[T 2, I
© 7R D 5

3.  Which of the following material has its magnetic susceptibility x in the
range 0 < x < g, where ¢ is positive and small ?

(A) Aluminium (B) Water
(C) Gadolinium (D) Bismuth

4. A galvanometer of resistance 100 Q gives full scale deflection for a current
of 1.0 mA. It is converted into an ammeter of range (0 — 1A). The
resistance of the ammeter will be close to

A 01Q (B) 0.8Q
(C) 1.0Q (D) 10Q

5. The mutual inductance of two coils, in a given orientation is 50 mH. If the

current in one of the coils changes as 1 = 1.0 sin(lOO it +§j A, the peak

value of emf (in volt) induced in the other coil will be

T

(A) 5 B) b7
(C) 0.5m (D) 0.05m
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6. el Afore 2 Se &) AT o5 sl e el g T R St e B & 7

(A) 0.8fm (B) 1.6fm
(C) 2.0fm (D) 2.8fm

7. 5 x 1028 y] ufd gl % 3G Si fohed &1 A1eT 1 ppm HigdT o TEHHT o |1y
foparr e B | afe wifeq fopeeet o foreil Y =gt 4.5 x 109 m=3 wrRft St 3 & Si fopee
T ST TSN FAT&ehT sh! FgdT (m—3 H) Bl & T
(A) 1.2x10! B) 1.5x 106
(C) 3.0 x 10 (D) 2.0 x 1016

8. ETSgIoM Y] 1 freran stawen § et soideia it It —13.6 €V B | T2 Ifd
STIEAT H T SAI b TSl Snoll STR TEATST At BRIT —

(A) -13.6¢eV, 27.2eV (B) —6.8¢eV, 13.6eV
(C) 3.4eV,—6.8¢eV (D) 6.8eV,-3.4eV

9. STt % MG H YIW 1 STH aTeft fgaerreh ™ adi gl & —
(A) 3TeRR fohTol (B) ST femtor
(€) X-fopwi RRIGIRER

10. =R U] A, B, C 3R D = forg smmafa ferfereor <6 stmafa (v) o & T fava (V)
5 foreror o6t 3T | gt TR 7 | Tt st § wiegedi= 3 i % fote, smafad
farfoRton &1 T T <6 foTe sTfeRas TTiast Sl ot RIesede aTell 91g &

Vo4 A B CD

s

0 > U

A A B B

€ C D) D
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6. The potential energy between two nucleons inside a nucleus is minimum
at a distance of about

A) 0.8 fm B) 1.6fm
(C) 2.0fm (D) 2.8fm

7. A pure Si crystal having 5 x 102% atoms m™3 is dopped with 1 ppm
concentration of antimony. If the concentration of holes in the doped
crystal is found to be 4.5 x 109 m~3, the concentration (in m~3) of intrinsic
charge carriers in Si crystal is about

(A) 1.2 x 10 (B) 1.5x 1016
(C) 3.0x 105 (D) 2.0 x 1016

8. The energy of an electron in the ground state of hydrogen atom is
—13.6 eV. The kinetic and potential energy of the electron in the first
excited state will be

(A) -13.6¢eV, 27.2eV (B) —-6.8¢eV, 13.6 eV
(C) 3.4eV,-6.8eV (D) 6.8eV,-3.4eV

9. The electromagnetic waves used to purify water are
(A) Infrared rays (B) Ultraviolet rays
(C) X-rays (D) Gamma rays

10. The variation of the stopping potential (V) with the frequency (v) of the

incident radiation for four metals A, B, C and D is shown in the figure.
For the same frequency of incident radiation producing photo-electrons in
all metals, the kinetic energy of photo-electrons will be maximum for

metal
Vo4 A B COD
0 >
A) A B) B
€ C M) D
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11. Toret T Gerael o Tigeash 3 AR i Bihd gl AT 1 cm 3R 2 cm & | A
39 gEuestt i ARl 6l TS 10 cm 8, O HXetan Bifyer = & ¢@d & fofw 3|

GeAeeft ¥ W STEE 7
(A) 250 B) 200
(C) 150 (D) 125

12. 13 fogferd foma 40 cm Tehal Bisan & forslt TTiefa 391 98 (3199, n = 1.5) %
WGOcm@WW%IGﬁWHﬁﬁW
(A) dTEdfeh BT SR IS | 1.8 m G TS |
(B) WTEt BT SR I8 & 1.8 m T T S |
(C) dTEdferh BT SR I8 | 3.6 m Gl T & |
(D) SAHTE BT SR IS | 3.6 m gl T |

TR HEAT 13 § 16 H Q@ e G T & — Teh ol HAMHUA (A) TAT GHL 1 HRU (R)

Ao TR T R | 31 I S T STl 61 i fer g (A), (B), (C) I (D) H A

WW:

(A) aAf fipYa (A) 3TR RO (R) SHT T & 3R RO (R), AR (A) 1 &gt
RS Z |

(B) dfe MR (A) 3R RO (R) SHI IcF & 3T HRIT (R), ANTHT (A) 6 T8t
AT TE 2 |

(C) Ife AMMHUA (A) T 8 T SR (R) 316 ¢ |

(D) afe 3R (A) 38 8 I HR (R) off 3 2 |

13. e (A) : a1 % f-Tard v & S < ot Teig B WER 3] gft WA §,
SfcrehTuT Yo =T JeTur Tl fohaT ST HehaT R |

HRO (R)  : T SIISTS QI GIAT o S Jeh o STHATIAT! B & |

14. AHYT (A) : DI THI-HU fhHl Meg—11eh H1 TR TFaHH 8 | 180° % iV W

TehIUH o foTT Torg Tt 31ftehdd BiaT 2 |
RO (R)  : Torefl Towr-pur Jehvia SR | HoE UTe e A1iieh i URHTT] S
iR T war g |
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11. The focal lengths of the objective and the eyepiece of a compound
microscope are 1 cm and 2 cm respectively. If the tube length of the
microscope is 10 cm, the magnification obtained by the microscope for
most suitable viewing by relaxed eye is :

(A) 250 (B) 200
(C) 150 (D) 125

12. A point object is kept 60 cm in front of a spherical convex surface (n = 1.5,
radius of curvature 40 cm). The image formed 1s
(A) real, at a distance 1.8 m from the surface.
(B) wvirtual, at a distance 1.8 m from the surface.
(C) real, at a distance 3.6 m from the surface.
(D) wvirtual, at a distance 3.6 m from the surface.

For Questions 13 to 16, two statements are given — one labelled Assertion (A)

and other labelled Reason (R). Select the correct answer to these questions

from the options as given below.

(A) If both Assertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

(B) If both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) If Assertion (A) is true but Reason (R) is false.

(D) If both Assertion (A) and Reason (R) are false.

13. Assertion (A) : In a Young’s double-slit experiment, interference
pattern is not observed when two coherent sources are
infinitely close to each other.

Reason (R) : The fringe width is proportional to the separation
between the two sources.

14. Assertion (A) : An alpha particle is moving towards a gold nucleus. The
impact parameter is maximum for the scattering angle
of 180°.

Reason (R) : The impact parameter in an alpha particle scattering
experiment does not depend upon the atomic number of
the target nucleus.

2255/5/3 9 P.T.O.
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15. SANHRYT (A) : 3@ H ST ITTAR e Tael JTRR Iei oh & 319 W T HHH AT
T gATeT 3T TS ThauH fIaiid & | 39 961 o g O T qiomH
forga 8 OC & srgfen T B |

FO(R) : EHIFRI IR fh O MR fova =i 2 |

+ A 4

16. Ay (A) : Toreft greehir & o wifomm fepeft A shor sht St ufiafda & gt
2|
HRO(R)  : SHHI DRV I8 & ohiF &7 § Mad fehel 31Taw W Freehid ot g
S T S I BT R |

Qs -9

17. mmmmﬁﬁ@mmmwmaw,mwmma@

3, W HH bt Sl F % T e o= i | Ic IG =ATHR CGI-HeG! SRR
T g1, a1 ot . 9 =stes 9 7 ? g hifw |

18. (a) 30 cm YT < fopelt @i & IR 3l A, B, C 3R D W 1 uC, -2 uC, 1 uC 3R
—2 pC o I formg 3TerT shAeT: fRU 8 | 38 11 o g T T8 4 puC o 3Tee W
HTI ¢ T T4 ShITT |
rYET
18. (b) 10 cm ST o fepet HaTg FHYS o Tk 3 W 1 pC 1 forg oo fd 8 1 39
99 & Hgep W e Toega & Fma hifse |
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15. Assertion (A) : Equal amount of positive and negative charges are
distributed uniformly on two halves of a thin circular
ring as shown in figure. The resultant electric field at

the centre O of the ring is along OC.

Reason (R) : It is so because the net potential at O is not zero.

r A 4

16. Assertion (A) : The energy of a charged particle moving in a magnetic
field does not change.
Reason (R) : It is because the work done by the magnetic force on the

charge moving in a magnetic field is zero.
SECTION - B

%
17. Derive an expression for magnetic force F acting on a straight conductor

%
of length L carrying current I in an external magnetic field B. Is it valid

when the conductor is in zig-zag form ? Justify.

18. (a) Four point charges of 1 uC, -2 puC, 1 uC and -2 uC are placed at the
corners A, B, C and D respectively, of a square of side 30 cm. Find
the net force acting on a charge of 4 uC placed at the centre of the
square.

OR

18. (b) Three point charges, 1 pC each, are kept at the vertices of an
equilateral triangle of side 10 cm. Find the net electric field at the
centroid of triangle.

2255/5/3 11 P.T.O.
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19. 10 cm hIHH gll 1 13 el AEN oiH 15 cm B gt < forell qaet 3aard o

guyeh T T @1 2 | I8 TN fohH TehR SEgR T ? 379 IR 1 I T |

20. ggefem fiar fou ST9am germ srfufhan &
2 2 3 1
1H + 1H—> 2He + o + 3.27 MeV

2 g SR g1 gord Ha1l ol ITAM hieh 200 W b fore[d el ol foha TH eh STetrl
ST HehdT 8 ?

21. BIESISH WA ¥ Solagi= 0.53 A 1 B 1 e § 2.2 x 108 m/s =t =Tt & qiehar
@ 7 | Fafafya sifasht 51 ST s 39 S g Scatoid kT i SARReh
3mrgfe uftesferd Hifsr |

T ug -1

22. (a) () i frm fofau | oot wweror fm & S1gan Tt awg ufmy & Ifa am
Treeh I Tt 1 Ui o ol o1 forier et 3 | gweht gfE shifre |
(11) ZmWﬁWﬂ@Eﬁﬂgﬁ, 60rev/sﬁﬁmﬁﬁ@%aﬁﬁﬂﬁﬁ
qTel, 39 e, T FEh! TS o ] 8, o THd: G HUaT T 7 | 39
&9 H T % YOH qA o orreeq 2T & fopell weham™ Fraehia & 1 =Te].
foran TR 7 | 39 B o g 3TR U R offe T e.m.f. aftefera Shifsm |
JHAYAT
22. () () TERR S g Fay forget 3ueh! e $ifvT |
(i) 20 cm | gUTeRd < T T TR & T9H fG2M H 5 A 3T 10 A 3hi 917 y@Tted
BT R | 3 A % wen § fe fneh forg Yz g & o1 wftamo 3i fesn
T ST |

23. Torelt urg o 7w <Eeht g 3.0 x 1014 Hz 3 1 9.0 x 101 Hz &R &1 1§ 3 39
&g T 3ATIAH AT & | T SHIRTT (1) 38 G1g T eV T HRIBST TUT (1) BIIGAFRAT hi
JAfeRad =7 |

24. (a) Toepa-graeh™ Tagd & 39 9Tl &1 9 fofge {5 (1) S aai ot a1 97 ¢,
(i1) ITIHSA T IS TSI L T 8 |
(b) 3 fafeRTom o Teh o I i TR THEA 6! Ush-Teh fafer war 4 fetfaw |
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19. A thin converging lens of focal length 10 cm is placed coaxially in contact
with a thin diverging lens of focal length 15 cm. How will the combination
behave ? Justify your answer.

20. Deuterium undergoes the following fusion reaction :
2 2 3 1
1H + 1H e 2He + o + 3.27 MeV

How long an electric bulb of 200 W will glow by using the energy released
in 2 g of deuterium ?

21. The electron in hydrogen atom is revolving with the speed of 2.2 x 106 m/s
in an orbit of radius 0.53 A. Calculate the initial frequency of light
emitted by the electron using classical physics.

SECTION - C

22. (a) (@) State Lenz's Law. In a closed circuit, the induced current
opposes the change in magnetic flux that produced it as per the
law of conservation of energy. Justify.

(1) A metal rod of length 2 m is rotated with a frequency 60 rev/s
about an axis passing through its centre and perpendicular to
its length. A uniform magnetic field of 2T perpendicular to its
plane of rotation is switched-on in the region. Calculate the
e.m.f. induced between the centre and the end of the rod.

OR

22. (b) (1) State and explain Ampere’s circuital law.

(11) Two long straight parallel wires separated by 20 cm, carry 5 A
and 10 A current respectively, in the same direction. Find the
magnitude and direction of the net magnetic field at a point
midway between them.

23. The threshold frequency for a metal is 3.0 x 1014 Hz. A beam of frequency
9.0 x 10 Hz is incident on the metal. Calculate (i) the work function
(in eV) of the metal and (i1) the maximum speed of photoelectrons.

24. (a) Name the parts of the electromagnetic spectrum which are (i) also
known as ‘heat waves’ and (i1) absorbed by ozone layer in the
atmosphere.

(b) Write briefly one method each, of the production and detection of
these radiations.

2255/5/3 13 P.T.O.
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25. (a) Tl p-n GfY SEIE & 3T AfTeTarives 6 sarE Hifse o 39 feghrl & &9 0

SR o ol SUeRd ST R |
(b) TNTY 3T i TgrIaT & fohelt i qT fepenil 1 Srifafy i =men Hif |

26. WO ¢d ¢ FEferiaa st smen Fifse
(a) oIS AIIGA e forgd-Iql BT 2 |
(b) Wﬁ@ﬁﬁ%{ﬂpnﬂﬁﬁﬁéﬁzmﬁﬁ%l
(c) Tortht SR T U 9T SATTETIGh €9 ¥ TSI dleeal T fft 78 it 2 |

27, F g a1y = (3x1092)1 % a3 e ¥ 1 7 B g A
B = (91 mT)k % wew & i e & |

(a) SoIagH T HRRA THeehi WﬁmewﬁﬁwmﬁﬁQ |
(b)  FoTeR G =Ied 71T 9 <h1 ARG T |

28. TS 5.0 m 3R FATRIHRE &% 1.0 mm? & ferelt =eish & fai W 1.0 V &1
favaT<R e fohan T B | 919 39 9ol ¥ 4.25 A 9N YEIEd i It g a9
FAFLHT T (1) I8 o9 qe (i1) farsnf= et ufewfera Shifsw |

(fea 2 — =TeTes U ST T T T, n = 8.5 x 1028 m~3).

T Us-H

29. 15 Ts" @ THae T9ades 81 § forr 18 weh1fiwes weem gt & | fisw 9 o areft
I3 TehTRI-ToRTUT ST BT § FHUFTA STUATdd Bleht 379 A 9 ¥ Tepdll I W fe=aferd &l
STt 2 | Tirw ok aered w1 sruedHTes i fou e ey gr s R S &

_ (A+6m)/ . A

p=sin|= 5|/ sin7

e T % EX I8 W A ivT, forefl 1o [ shifdeh I ad 7, 8 A 2l 7,
<l g TehT01 gHL I8 & HAUda Tl Bidl 8 37 U1 STl Teifeid g1 St & |

() A 3R T % fTC FHifaeh HIoT HAN: 0, 3T 0, & | HA-IA F=<IS 6 fQ

Shiferh 10T BT (0, = 1.5, 1, = 1.33)

A) 6,H%HA (B) 0,30, =

(C) 0,4 3fi D) 6,89
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25. (a) Explain the characteristics of a p-n junction diode that makes it
suitable for its use as a rectifier.

(b) With the help of a circuit diagram, explain the working of a full wave
rectifier.

26. Explain the following, giving reasons :
(a) A doped semiconductor is electrically neutral.
(b) In a p-njunction under equilibrium, there is no net current.

(¢) In a diode, the reverse current is practically not dependent on the
applied voltage.

m \A
27. An electron is moving with a velocity v = (3 x 106 gjl It enters a region

of magnetic field _B) =91 mT)I/;.

%
(a) Calculate the magnetic force Fy acting on electron and the radius of
its path.
(b) Trace the path described by it.

28. A potential difference of 1.0 V is applied across a conductor of length 5.0 m
and area of cross-section 1.0 mm2Z. When current of 4.25 A is passed
through the conductor, calculate
(1) the drift speed and (i1) relaxation time, of electrons. (Given number
density of electrons in the conductor, n = 8.5 x 1028 m=3).

SECTION -D

29. A prism is an optical medium bounded by three refracting plane surfaces.
A ray of light suffers successive refractions on passing through its
two surfaces and deviates by a certain angle from its original path.

The refractive index of the material of the prism is given by

. (A+3dm / s .. :
p=sin— 5 )/ sing. If the angle of incidence on the second surface is

greater than an angle called critical angle, the ray will not be refracted
from the second surface and is totally internally reflected.

(i) The critical angle for glass is 6, and that for water is 6,. The critical

angle for glass-water surface would be (given alg = 1.5, Jug = 1.33)

(A) lessthan 0, (B) between 0, and 0,
(C) greater than 6, (D) lessthan 6,
2255/5/3 15 P.T.O.

.
Qcollegedunlas
India’s largest Student Review Platform



e

(11)

(1i1)

(iii)

(iv)

2255/5/3

STe TEICE A 3R ST v hl his TehT= fohtv1 ToRET HaF ATEM H 3T9afdd il &
al
(A) A 3R v QHT A g Bt 2 |
(B) A HI(g Bl & wg v i &l 2 |
(C) AT BRI 8 TR v SRl &l 3 |
(D) A 3R v QH HHH EA E |
(a) g T a A T areft el wehrer <t fertor o forw shifaes shior fram i
q:
(A) e avf o fera (B) et avi % ferg
(C) et ol forw (D) ST vt ferw
& O
(b) Toreft Tirem | wM Staesti ¥ S-ar | of1e, et 3TR St <fi| Sehrer g9
TR T E | 5 5w =pan foerem Y feufa # & 7o gat g8 & uedd wi
ERE I'p, I'y 3ﬁ'{ rv%:, dd
A) ry<ry<rp B) ry<rp<ry
(C) rp<ry<ry D) rp=ry=ry
ANG § T AR B FhI TR HATeHTR A2 % TRt st ABC W

ANTeTESE 3T L TET © | ST o etk AC | TohUH o U3 I8 fehtum
A

 60°

-
B C

(A) fom ferafera gu wieft Tom aft |

(B) ®eTh AC % Ffew Sieh Tasi St |
(C) 3rafad Brft 3R frem & STat T S |
(D) ot 3 Tt B |
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(11)

(1i1)

(111)

(iv)

2255/5/3

When a ray of light of wavelength A and frequency v is refracted into
a denser medium

(A) A and v both increase.
(B) A increases but v is unchanged.
(C) A\ decreases but v is unchanged.
(D) A and v both decrease.

(a) The critical angle for a ray of light passing from glass to water
1s minimum for

(A) red colour (B) Dblue colour
(C) yellow colour (D) wviolet colour

OR

(b) Three beams of red, yellow and violet colours are passed
through a prism, one by one under the same condition. When
the prism is in the position of minimum deviation, the angles of
refraction from the second surface are rp, ry and ry, respectively.

Then
(A) ry<ry<ry B) ry<rg<ry
(C) rp<ry<ry D) rp=ry=ry

A ray of light is incident normally on a prism ABC of refractive index
\/E, as shown in figure. After it strikes face AC, it will
A

f 60°

-
B C

(A) go straight undeviated

(B) just graze along the face AC
(C) refract and go out of the prism

(D) undergo total internal reflection
17 P.T.O.
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30. |l 1 IHheuT H TRl ! Tecaqul YIehT il & | Tohsfl Treea & 19 gaia
YT YR B Tohdl & | 6 Tohet TS T[eoh bl Tohelt aTel Toa &= 3 @1 e 8,
fored & & o T % o1 Y81 W ISt 3199 Fehe B & | 3 STl % H
TS 2o o HIcR RIS fore[d &= SerTfud 21 STaT @ |
fereht Henfer <t enfean 3@ denfar i g1 ufgwrsti & ffa & TWH ® W 9o 99 5
e W AR et 7 | iy, et gt B et wfad s Y e of
guTfera Bt | Uferierehl <t wifa @enfe = off Soft 3tw/=n uwd & ganfaa foean o

ghal  ® |

() Trfafaa @@ o geha s e 2
@A) 0, (B) H,
€ N, (D) HCI

(11)
(A)

®B)
©)
D)

(111)

et o fore fFefeifad o & & a1 s S agi 2 ?

e Freg 8 6 st 3 et ol e # e faye ot 2 2
e fgrat < st uftafda &1 simar 2 |

Sfed feggat o1 e fesga smeot srweer faga &m <6t fesn & sfem ST 2 |
TR H o AT B ¢ |

fopel e 5 SR e T ST 3 ST e feg 2 e Foep A
G B 3 |

STe fereht fergery Srafdra denfer <t afgehtati < s foreft TRrae[d et ot W@ ST

2 A1 39 |1 4 |ied Sl

(A)
(B)
©)
D)
) (a)

2255/5/3

g T B e 35k ek forgga &t i g ST B |

HE WA g a1 faga & e S g |

T AT g a2 foega & & a1 & |

§¢ ATt g a1 fogpa e ge A g |

Torelt arg & WX warie, gt afgwisti &1 Swa A a1 ufgnsi & o9
g d 2, 6T et C ) B | 59 Hennfer <Y afgehtat % sfte Sme A, W

@ﬁxwﬁgﬁm K 1 T3 Tehl 1@ a1 STl & | 39 T <hl 4Tiet &
STart —

@) [5}?5 1}00 ®) [KI 5}00
© [4}?5 1}00 D) [K5JIF{4}CO

AYAT
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30.

Dielectrics play an important role in design of capacitors. The molecules of
a dielectric may be polar or non-polar. When a dielectric slab is placed in
an external electric field, opposite charges appear on the two surfaces of
the slab perpendicular to electric field. Due to this an electric field is
established inside the dielectric.

The capacitance of a capacitor is determined by the dielectric constant of
the material that fills the space between the plates. Consequently, the
energy storage capacity of a capacitor is also affected. Like resistors,
capacitors can also be arranged in series and/or parallel.

(1) Which of the following is a polar molecule ?
@) 0, ® H,
() N, (D) HCI

(11) Which of the following statements about dielectrics is correct ?

(A) A polar dielectric has a net dipole moment in absence of an
external electric field which gets modified due to the induced
dipoles.

(B) The net dipole moments of induced dipoles is along the direction
of the applied electric field.

(C) Daelectrics contain free charges.

(D) The electric field produced due to induced surface charges
inside a dielectric is along the external electric field.

(111) When a dielectric slab is inserted between the plates of an isolated
charged capacitor, the energy stored in it :

(A) 1increases and the electric field inside it also increases.
(B) decreases and the electric field also decreases.

(C) decreases and the electric field increases.

(D) increases and the electric field decreases.

(1v) (a) An air-filled capacitor with plate area A and plate separation d
has capacitance C,. A slab of dielectric constant K, area A and

: d). . )
thickness (‘j is inserted between the plates. The capacitance of

5

the capacitor will become

4K K+5
(A) [5K n 1}00 ®) [ 4 }CO

5K K+4
© [4K+ 1}00 D) [ 5K }CO

OR
2255/5/3 19 P.T.O.
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(iv) (b) < Tenfell bt amftar 2 ) 3R 6 C, & 1 T8t Avft 3R fRe wred &

AT ek TH-a0 & 99 St o B 9 Srer mn g | Aot gaee 3R

q1Ye GRS T Gferd SetiaTi =T STHTd BRI —

@ 5 ®

© = O
wvg -

31. (a) (i) of9eh! o 9REY 31@9d X, Y 3R Z feu 7w § | <7 sewal &1 ah-ar &
foret feu U ac &9 @ GEfSa fopam T B | I8 9 S @ T 3ee X o

U V 3R I 99E e | 7, WY%WI@V@W%WWZ

ﬁ;fwwﬁl( )w%laqaaahx Y 3R Z i 9g=H i |

(i) IfEe St gfaerer o fou 39 fRufa T s wunfua e s 41 3o X,
Y 3R Z ac €@ 9 Jvft § 9AfSd § | STIIIH ac EA i AERT o 1Y
gfae &t 4 | fereror o1 guiv & fow are @it |
(iii) T LCR 2oft uftay & fow o o wrea shifsre e (1) afwey 6 wfqamen
Foretam Bt 2 @ (i) Tiu § e U etEd B § |
FET
31. (b) (1) Toreht TEBAR T TEAT a1 SR H1 9uH HIT 3R 36 THR TAfies

ﬁtmmﬁﬁ;ﬁaﬁw%wﬁﬁ( ]%WWWW |
(i) Tereft amxaferep ST o Ftl- &1 o TR & SHRUT ht foerraT HIfT |

32. (a) () ToXet Ureay O 9 O1edy 4 HeLol hidl his THdel TehTT a0 ST HIEH] ohi
g7k i 1ol I8 T TREt 107 1 TR ST T 7 | BT T T 3w
Heh JATarad LT T 3R 30 ThR T o 3T9ad o HaH T TemoH
HIT |
(i) = < fg-Terdt sm o forfi & = 9ok 0.30 mm 3R ¢ 1 forfai & gff
1.5 m 2 | 3UA fhT 7T YehTer <A1 qUTeed 600 nm 2 | hrs1d IHehict! fThsT
TR =t reft Bhst o o= <6t ght wftesfera i |
JAYAT
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(iv) (b) Two capacitors of capacitances 2 C, and 6 C are first connected

in series and then in parallel across the same battery. The ratio
of energies stored in series combination to that in parallel is

@ 1 ® =

2 3

© 15 M ¢
SECTION - E

31. (@) (@) You are given three circuit elements X, Y and Z. They are
connected one by one across a given ac source. It is found that V

and I are in phase for element X. V leads I by &j for element Y

while I leads V by &j for element Z. Identify elements X, Y and Z.

(1)) Establish the expression for impedance of circuit when
elements X, Y and Z are connected in series to an ac source.
Show the variation of current in the circuit with the frequency
of the applied ac source.

(111) In a series LCR circuit, obtain the conditions under which
(1) impedance is minimum and (i1) wattless current flows in the
circuit.

OR

31. (b) (1) Describe the construction and working of a transformer and
v
S

hence obtain the relation for (v ) in terms of number of turns of
P
primary and secondary.

(1) Discuss four main causes of energy loss in a real transformer.

32. (a) (1) A plane light wave propagating from a rarer into a denser
medium, is incident at an angle i on the surface separating two
media. Using Huygen’s principle, draw the refracted wave and
hence verify Snell’s law of refraction.

(1) In a Young’s double slit experiment, the slits are separated by
0.30 mm and the screen is kept 1.5 m away. The wavelength of
light used 1s 600 nm. Calculate the distance between the central
bright fringe and the 4t» dark fringe.

OR
2255/5/3 21 P.T.O.
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32. () () TrH e o @y o foada < gfdre e hifse 3R faeda Yed 6
3rehfcl G |
(i) w15 fora forefl STaaat gv & g 3R ®d o o9 @ 7 | gdor g3
TN b T &9 H g i fob gdor grar a1 wffersr st 37
forafeia g |

33. (a) (i) Tret forega fayga o foru wwfave I8 smiftga i |
(i) 2 farg 3 o, 3R q, Freft wmer Foeg 8 E § s 7 i 2, W R
2 | 38 T b1 Teufot Sott o Torw sisies ot <1 |

(iii) et 310] bt fg 3t 10730 Cm 3 | 78 35 105 V/m % freged= B 3
39 YRR fra & o6 soept a1 faega & & sgfew 7 | forga & Y feom =
fopeht &1or 3/ 60° < v W aRafad foram Srar @ | 3 o W fgga i
oot Stt o e e Hifs |

FreqET
33. (b) (i) Fr=a R foreft qaet Miclla @ 1 THeHH JE 3769 o9 6 3 | =89
T 61 3T ek T @I & (1) ITEX 3R (1) i foega @ % o
Seh A~ T |

(i) < o Y gl a’i AB 3T CD & Rges 31w vcd it 10 uC/m 311
—20 pC/m & | ¥ TR Ush oL < TR 1 m ¢t W @ § | 37 a1 & wed
farrg W e fergga &= w1 aftmon SR fwm 31 hifsT |
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32. (b) () Discuss briefly diffraction of light from a single slit and draw
the shape of the diffraction pattern.

(1) An object is placed between the pole and the focus of a concave
mirror. Using mirror formula, prove mathematically that it
produces a virtual and an enlarged image.

33. (a) (@) Draw equipotential surfaces for an electric dipole.
(i) Two point charges q; and q, are located at ¥, and ¥
1 2 1 2

%
respectively in an external electric field E. Obtain an expression
for the potential energy of the system.

(iii) The dipole moment of a molecule is 1073 Cm. It is placed in an
%
electric field E of 105 V/m such that its axis is along the electric

%
field. The direction of E is suddenly changed by 60° at an
instant. Find the change in the potential energy of the dipole, at
that instant.

OR

33. (b) (1) A thin spherical shell of radius R has a uniform surface charge
density o. Using Gauss’ law, deduce an expression for electric
field (1) outside and (i1) inside the shell.

(11) Two long straight thin wires AB and CD have linear charge
densities 10 pC/m and —20 uC/m, respectively. They are kept
parallel to each other at a distance 1 m. Find magnitude and
direction of the net electric field at a point midway between
them.
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